
Solution to Harvard Puzzle "" 

H M S A P I E C E T R
I P E R E T R O B R O
D I N G R O U S E A V
E R C O M M I S S I O
N E E R I E N E S T S
P A R A N D S T I N T
S L E D G E C A G E H
A T V E L A R N A V A
L E I R E T A N G E L
M E E T C O N T E N T
E S C A R L E H S P H

 
The omitted letters (in parentheses in the list below) spell 

LONGWOOD AVENUE 
 

Across 
1. HMS 
2. APIECE 
3. TRIP(L)E 
4. RETRO 
5. B(O)RODIN 
6. GROUSE 
7. AVER 
8. COMMISSION 
9. EERIE 
10. NEST 
11. SPA(N) 
12. (G)RAND 
13. STINT 
14. SLEDGE 
15. CAGE 
16. (W)HAT 
17. VELAR 
18. NAVAL 
19. EIRE 
20. TANGEL(O) 
21. MEET 
22. CONTENT 
23. ESCAR(O)LE 
24. HSPH 

Down 
1. HI(D)DEN 
2. PSALM 
3. EMPIRE 
4. AL(A)TE 
5. ESSENCE 
6. REVI(V)E 
7. CARGO 
8. R(E)ADER 
9. TAPER 
10. MINGLE 
11. CRITO 
12. MEDEA 
13. TOLE 
14. RUINS 
15. CRANE 
16. COSSET 
17. ANN 
18. THEBES 
19. SIG(N)AGE 
20. STRAIT 
21. (U)NEVEN 
22. PROVOST 
23. H(E)ALTH 

 
Kevin Wald solved the puzzle in 25 minutes. 


